
[image: image1.jpg]




1、求下列各题积分：（每题5分，共20分）
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解：（1）
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2、（10分）设函数
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，所以
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3、（10分）设函数
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试问: 
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解：由题设条件
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同理 
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4、（10分）求函数
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凸区间有
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6、（10分）求函数
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7、（10分）设
[image: image87.wmf]()

fx

在
[image: image88.wmf][0,1]

上可导，且
[image: image89.wmf]0()<1,(0,1),(0)0

fxxf

¢

<Î=

，证明


[image: image90.wmf]11

23

00

[ ()d]()d

fxxfxx

>

òò

.

证：令 
[image: image91.wmf]23

00

()[ ()d]()d

tt

Ftfxxfxx

=-

òò



[image: image92.wmf]32

00

()2() ()d()=()[2 ()d()]

tt

Ftftfxxftftfxxft

¢

=--

òò


因为
[image: image93.wmf]()>0

fx

¢

,所以
[image: image94.wmf]()

fx

严格递增，因此
[image: image95.wmf]()>(0)=0

fxf

，

令
[image: image96.wmf]2

0

()2 ()d()

t

gtfxxft

=-

ò

，
[image: image97.wmf]()2()2()()=2()(1())>0

gtftftftftft

¢¢¢¢

=--

，

所以
[image: image98.wmf]()

gx

严格递增，因此
[image: image99.wmf]()>(0)=0

gxg

。于是
[image: image100.wmf]()>0

Ft

¢

，从而
[image: image101.wmf](1)>(0)=0

FF

,即

[image: image102.wmf]11

23

00

[ ()d]()d

fxxfxx

>

òò

。
8、（10分）已知函数
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9、（10分）(1) 计算广义积分
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解:  (2) 作变量代换
[image: image116.wmf]1

1

1

,

n

n

xtdxtdt

n

-

==



[image: image117.wmf]11

11

000

11111

dtdtd()(1)

n

xtt

nn

exetet

nnnnn

--

+¥+¥+¥

---

===G=G+

òòò


由于
[image: image118.wmf]()

s

G

在
[image: image119.wmf](0,)

+¥

上连续，
[image: image120.wmf]0

1

limdlim(1)(1)1

n

x

nn

ex

n

+¥

-

®¥®¥

=G+=G=

ò

.
附加题：（10分）
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